WEZEAS: 603185 WEERTIRR:  EVLEE NGRS 2022-100
wARHD: 113642 WS TIRR:  _E22%k R

T8 LR BB A R AT
KT “E22 Bfit” BEMKEABNAS

ERFAEFRREBEBRIER NG AFTAFEEMBBRICE. RPER
REEERE, AR, HEm i e B MR A B K& THE.

EENFRR:
VAT . 102. 61 J0/ %
THE S BB M . 102. 40 JT/
® I 22 B ARUKEL RANAS VR RS H . 2022458 H 25 H
® <22 BB RIFEIANR N 2022 49 H 7T H&E 2028 2 H 29 H, H
R AN B, O A 45 T KUK

Zorp EESR I B B 04 OR TR UETC 8 LB A IR A R AT RAT
AR A FIRSRRAMAE)  GEMEYFRT[2021]3409 5) #dE, T8 ENEEE B
AMRAR (BUR@ERE “AR7 ) T 2022 4 3 H 1 HAFKRAT T 24, 700, 000 7K 7]
e m gy, FFIKIEAEDY 100. 00 76, KATH{E AN 24. 70 1478, WK 6 .
IT 2022 9 4 A 6 HiRE LGSR 5 A &, Biorfife “ b 22 #6517,
A0S 113642, SRR N 2022 49 A 7 HE 2028 4E 2 H 29 H, ¥R
W& 145. 66 TG/

— BB AR

2022 £ 6 14 H, AR AR =JaEF BN H-BRSW, S 08T 1
TR B A ) B I S SRR L R e s S U v R R A e R B A TR L
F) V CORTUEE A R 58 I SIS PR R SR Al T R 1 AR T U B
PR AR TRGR BRI WCRD) (O T 1A A w55 B SR AN 5 R 44 e S il
THRISUI S R R TRGE R ) , R (CTod B B A BR 2 =] 28— 3




5 SR AL S BRI B S Al TR (%) ) (BURAIAR < CBahitRl (%) ) 7
I E AR 2022 458 = IRIGIN AR R IOHAL, sE e bL 2022 4F 6 H
14 HONH B 92 T H [RFE 2 AR 736 443U 542 T 209. 86 T 1 i 5%
IRl 152 WA GA% T 147. 86 T3 I BR il 14 I 52

2022 4 6 H 30 H, ARIE|HERESSIe8HA R ITTA R Ligsr AR
H QIR EACUER) , 2 ) AR R ) M I Sl T R TR 42 7 B TAE 2
. BREARENART 2022 4£ 7 H 1 HAE LEIEHRA 5 BT
Cwww. sse. com. en) S8 €S BB FR A DR (1 0% T 58 A e S AL S5 BR ) 12k
e SRR TR R T AR AEY (A5 2022-088) .

WRyE (o8 ENEEE R AR AR A RAT A BTN w7 S 4 Ul
o) (BURTEAR “ (SRR 7 ) MREKFME, 18 “ & 22 #6577 RITZ
JG, BAFRAIRELANE . FEIGRA . R COAEFE B AR ORAT IR A 4
H SR B3 I A | e DA AR A B 4 IR S A5 00, D26 R A A% A L 1
B,OBE B 22 B RN RS (EEUHR) WRLE.

Z. BRI RABRARGAEER

MRS LRV MM CHE, BRI AN A 8 2 X T

LA A P1=P/ (1+n) ;

1R H BB : P1= (P+AXK) / (1+k) ;

FIRBEIFER T Pl= (PHAXK) / (1+ntk)

IRA I B P1=P-D;

FIR=TAFEN 4T Pl= (P-D+tAXKk) / (1+ntk)

Horbre PONIRBERTEE AT, n RIRIEBCR A B AR, k S BE RORT IR
FCRE 2, A 3 ROH AN SR EC A, D AR IIRIE LG R, PL AR e A

PR IR BT B A A A 30 Pl= (PHAXK) / (1+k)

Horr: PONTABEAT M 102. 61 J0/ M, A MR 48. 08 T/, k M
B R HTIBER 0. 3808%, AU ERE Ja B A i P1= (P+AXK) / (1+k)=102. 40 JT
/o

Rk, b 22 #:6R”7 MR MmisEh 102,61 Jo/R%E N 102. 40 7o/ .



WG RN E 2022 428 A 25 HilgA % BT “L 22 #1657 MAFhEE
I, AURREFETC 75 AT 38 2 B 152 R

Frib A
T ENVEAE A HBR A ]

B OH 2
2022 %8 A 23 H



